[ Efficiency vs vertpos |

~0.05
9.045
4

20.04
(8]

$.035
[

£0.03
.025
0.02
015

0

0

0

Ratio

.005

0.01

L

rr -

0
1.5

iy

JRRCH RARAS RS LLLRS LALAT RSCAL ARARN LAY RALAE RARAN LARAN LARLE AR

+

0.5
10

-2 100 1

10 0?
TP vertr (cr%)

—=— DQM_CKF_TTbarPU

Effici —e— DQM_mkFit_TTbarPU-noDNN-baseline
ICIeNd __,__ DQM_mkFit_TTharPU-noDNN-fix

N
®
5
@
3]
=
[}
0

0

0

Ratio

0.05

Y SRR SRR S ———
U5 SRS RIS

0,02 +-osheoefin g

NI SR * :

0.01F -5} * --
0051 *

PSS SRS R S N
» : : : : :

>0.04
> : : : : :
03Bt

=30 -20 -10 0 10 20 30

TP vert z (cm)

[ Efficiency vs. sim PV z |

N

>
50.045

£
n

9.035
>

[S]
c
()

2.025

[}

0.015

0.005

Ratio

0.05

0.04

0.03

0.02

0.0

.......................................

.......................................

20515 =10 5 0 5 10 15 20

Sim. PV z (cm)



	Contents
	Page 1


